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® Use black ink or ball-point pen.
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® Answer all questions.
® Answer the questions in the spaces provided
— there may be more space than you need.
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® The total mark for this paper is 100
® The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.
® Questions labelled with an asterisk (¥) are ones where the quality of your
written communication will be assessed.
Advice
® Read each question carefully before you start to answer it.
® Keep an eye on the time.
® Try to answer every question.
® Check your answers if you have time at the end.
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1(a) Work out 7500 + 1500

Write your answer in words.

4500
+ 1500

q e O

2)

1(b) Write 4748 to the nearest hundred.
(1)
1(c) What is the value of the digit 5 in the number 425 9867
B oo
)
1(d) Write down the positive square root of 121.
1)
1(e) Which of these is equal to one million?
Circle your answer.
103 10% 10° 10°
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(a)

(b)

()

(d)
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Use the numbers from this list to answer the questions.

12 17 25 28 30 42 49

Write down all the multiples of 5.

.......... T
. 2)
Write down all the factors of 100.
5, 25
(2)
Write down a square number.
o A
1)
Write down three numbers that have a sum of 60.
........ 5 andg\s_ andgo
1)

Here are two numbers.
forty thousand 7500
Which number is bigger?

Give a reason for your answer.

Bigger number .00 T L

azb f a-bto>0 |

Reason .......

So. kD o000 2 FH0O because HO00D-F500

= 32 500 o\qd 39 & EED o )

2)

o



4, w, x and y are three positive whole
numbers. w is one-fifth of y.
x is one-sixth of y.
y is less than 100.

What values could y take?

W s s
() 1
< oo Lo ¥4, {6', 6 } = 0 . Other common m\AQJu‘)‘%
D - of B and 6 KK e |also

10D are (O and qO.

)

5 The numbers 13 and 17 are consecutive prime numbers.
The number halfway between them is 15.

15 is not a square number.

Find a pair of consecutive prime numbers less than 30 where the number
halfway between them is a square number.

P-’A\mt g5 £ 30 ¢ l,%, 6, "?‘, H’ "5,17-,“]‘23,3\‘1

b s }\0\\(:'\'-'0\\0 beb\ve e Y and 5 anel g ago a SoL. 7

)
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|6. Work out G g
ghed Gu ]

2

; You are given that  34.7 x 25 = 867.5

(a)  Write down the value of 347 x 25 34.F X A5 X 1O = EEF.B5XID
= Bh95
REFS

(1)

(b)  Write down tﬁé"\'fﬁ“lueﬂf-m\+%
1)

(¢)  Work out the 32.7% 27

2)

E-l- E
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8. A tin of baked beans costs 30p.
A shop has a special offer on the baked

cans

Special offer

Pay for 2 tins and get 1 tin free

30p 30p

Helen wants 12 tins of baked beans.

(a) Work out how much she pays.

12y o = 4 x60 = 240p = fanuo
3
I e S
3)
The normal price of a toaster is £30
In a sale, the price of the toaster is reduced by 15%.
(b) Work out the sale price of the toaster.
15% of 30 = 2 4 20 = = e 30
Jore 20
20 )
UO - H-Bo = :P_ 4B £.29:99.
(3)

(Total 6 marks)

~NiRE Far 30, 0% > 13
4 | )RR
== 7
B%s ——s {150

f*‘sz)) x5

xﬁ(

15 Yo

ElzE
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9. Work out d + &
S
Tk I9 . 153
15 s
o i ol
55
(Total 2 marks)
10.
Diagram NOT
B dm accurately drawn
10cm 7Cfn
L
S5c¢cm
Scm
-
12cm

Work out the area of the shape.

2(5) + 58
%
= bO + .5

= 0.5 cml
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11. Use the information that
324 x 46 = 14904

to find the value of

(a) 3.24 x 4.6

220y 4¢ - 14909 . w0y | H. Q04

(b) 0.324 x 0.46

32c y Hb = HOH - 904 S gy
Tigea  lao 199,009 (1)
(c) 14904 = 4.6
22uxt6 = 1490 ¢ ?99*“'0 ..........
=5 'l'_))g_;,f X 1(_)) ¥ (¢ = o) = 14 QoY T g (1)
- ety LLEEE Yo
= 324o x 4.6 = 1W 9l = Ty (Total 3 marks)

12, 22 =72

(a) Find a value of x.

s+ |22 . +1ar
B i v

&
@
(b) Express 72 as a product of its prime factors.
+72
9 = 2 X 36 oR dé
D 3¢
o, | -
2 X 22X UF [\
= 2% 2% 2A¥ 9 @ '/6\
= L X 2ZX 22X 3x 3 @/‘]

%
oc 7Y 3

R TR -
(2)

(Total 4 marks)  ElZEE
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13. Here are the ingredients needed to make 8 pancakes.

Pancakes
Ingredients to make 8 pancakes

300 m/ milk

1 egg
120 g flour

5 g butter

David makes 24 pancakes.
(a) Work out how much milk he needs.

24 y 300 = 23y 300
= QICDOM(L

Louis makes 12 pancakes.

(b) Work out how much flour he needs.

12 vy a0
b

2 x 120
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(Total 4 marks)



14. Shagufia has a part-time job.
She is paid £5.60 for each hour she works.

Last week Shagufta worked for 24 hours.
Work out Shagufta’s total pay for last

week.

(Total 3 marks)

15. Here are the ages, in years, of 15 teachers.
34 53 41 28 37
22 32 40 50 34

44 28 45 45 55

Draw an ordered stem and leaf diagram to show this information.
You must include a key.

28 ¥
S o & ey 2] A=33
O 4 5

O | |P

@5
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| 16. Using the information that
48x36=172.8

write down the value of

(a) 48x36
(b) 4.8x3.6

(c) 172.8+48
w.8(10) x 36 - 1FA.€
IS
= %4 3qX 36 = 172%-%

=D 1?—’).-‘8 = B
g
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1
..... 28
(m

2.4
1
(Total 3 marks)



17.  This rule is used to work out the total cost, in pounds, of hiring a bicycle.

Multiply the number of days’ hire by 3

Add 6 to your answer

Peter hires a bicycle.
The total cost is £18
(a) Work out for how many days he hires the bicycle.

I — 6 12, _ o
R i 5 — Lt— ......... days

(b) Write down an expression, in terms of n, for the total cost, in pounds, of hiring a
bicycle for n days.

Totd cmt= 3n + ¢

(Total 4 marks)
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18.

Diagram NOT
accurately drawn

«—4icm—>

Work out the total surface area of the triangular prism.
Give the units with your answer.

Q(i;_3_> + 2(5) + E(Ur) + 8(3)

X+ 4O + A + ALy
lOR em?*™

(!

\|

(Total 4 marks)
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19. Work out an estimate for 085995 e ?:\Oc:) X 1O . ooo
0.51 Q.5 " in ‘_‘S,_
of. ZPCOR - oaD
5
OR L — ;‘30@@)(—9‘-:“_ 6 oo
3 OO <) |

...... oo ..
(Total 3 marks)

20. Here is a 4-sided spinner.

:
?

The sides of the spinner are labelled 1, 2, 3 and 4.

The spinner is biased.

The table shows the probability that the spinner will land on each of the colours 1, 4
and 3.

Colour 1 ) 3 4

Probability 0.2 Q.Y 0.3 0.1

Work out the probability the spinner will land on 2.

= (@2 + O-S-}—Q-:)

=1 - 0§ =0 -4

(Total 2 marks)
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' 21. (@) Write down the reciprocal of 5 I

(1)
4 3
(b) Work out the value of 23 - IZ
Give your answer as a fraction in its simplest form.
Doy Brd _ (Ixth)+ 3
5 e 3
= J_(ﬂ:__ _ _+
s
e Ll N S Ve
- 2.0 20 X9
|
| 20
3)
(c) Derek says that 4% is equal to 4.3
Derek is wrong.
Explain why.
e ddnlt... Stoxke(‘r\\Sf'owdﬂé ................................
W = 43 oo o3 (correck ko Aops)
®

(Total 5 marks)
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